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INSTRUCTIONS:
e Answer Question ONE and any other TWO.




mmmou ONE lCumpqumm?‘f‘

l} Given the Cobb-DuuglaB ]Jtl;lft functwn "C’T - v‘T’ , and the budget
 constraint ! = PX + £, If I-:z-;,wpum 2 and Pv 100, -

iD Set 'up?'tha utlllt)' maxlmlz.atmn problem faced by the wmumer

(Zmarks)

‘ ”‘i{(}u) Fmd the value of the utlhty ubtamed by the cunsumcr (8 marks) ; L

y | rlil) Compute the dcmand funetmns nf 3"{ and Y © (10 marks)

B - | |

i) Clearly f:xplaln thva assumptmns abnut consumer preferences (axioms)
that provide the mxmmum sat of‘ mndttmns fm consistent and rational
consumer bchavmr T AT R {Smarks)

i) Explain Why a mnnutnma tranblmmatmn ﬁf a unlﬂ;y function doesn’t

chfmgc the margmai rate af‘ aubsﬁmt,mn - (5 marks)

' QUESTION TWO L

A dxsc.nnunatmg munupahst has the folluwmg revenue and mmi cost
“Ilmctmns

Ry =R, (Q); Rf Ry (@) C=C(Q) whereQ=0Q,+Q; |
Determine the discriminating monopolist’s optimal pricing policy (10marks) v
b)

1). Use an example to explain a numeraire. | (;?,fnnﬁrké) |

H). Using the axiom of transitivity, explain why an indifference curve cannot
groas itself. (8 marks)




{ QUESTION THREE

| @) Pareto efficient allocation makes each agent as well-off as possible, given the
utility of the other agent. Given information below, and that T is the utility

| level for agent B, how can we make agent A as well-off as possible. (10 marks)
) PP

| x5 l:}%lfi‘ HA (*aXa)

Uslng A*ATBYE

1.2\ _ 5 . | .
uB(xb'xﬂ) u; 1;‘}‘1; :-wié Xj“xé:w?

- Such that
b) . If a firm is producing where MP/w, > MP,/w; what can it do ta reduce
costs but maintain the same output? (10 marks)
QUESTION FOUR

a) What kind of a utility function of wealth might be consistent with an
individual gambling and paying insurance at the same time? (10 marks)
b). You have a logarithmic utility function U (W) =ln W, and yout cutrent level
of wealth is KSh. 50,000, A

Suppose you are exposed to.a situation that results in a 50/50 chance of winning
or losing K8h, 10,000, If you can buy insurance that completely removes the
risk for a fee of KS8h. 1,250, will you buy it or take the gamble? {10 martks)

QUESTION FIVE

a) A consumer, who is initially a lender, remains a lender even after a decline in
interest rates. [s this consemer better off or worse off after the change

interest rates? {Smarks)

hange is he better oft o1

b). If the above consumer becomes a borrower after the ¢
(Smarks)

worse off?

c). Given the following Cobb Douglas praduction function;

Q=AK* and Q= CL#
ith respect to

Demonstrate that o, and B are the clasticity’s ol qutput w
. * (10marks)

capital and Labour respectively,

=l
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